GIME3ERT

NO K4 i B
(RA2AHTHS)
13| O FHES 600
2|8AF B |2V —X 545
3ITHE RBE SPEEE 500
AliEH =X HIOZ 385
S5|ZR R+ BAH= 245
6|F% M= FHES 240
=0 KiE FHES 230
glEA = 1v—XEFRI - 150
9|EEH HAEL | KiEH 135
10|15 KK EE 125
11 = iR ZEFE R 85
12| T W& A 22 R AALIR 80
13(1E RNFTES 55
14wl BB EEER 50
15\lhA IRz AR ZE R 2 ALIR 45
155" #rE FEE S 45
178 =& AR Ze &R 2ALIR 35
17/=R EMR B R 35
19|+ ZX RZE=) VA ER 30
20|11 216 AR Ze &R 2ALIR 25
2018k ZEH AR ZE &R 2ALIR 25
20(F% 1212 BEEE 25
20(15w =% R ZF B 25
20(FBH0 X& KIA= 25
25|F%F B= mI&EE 15
25(+FF  sKkEX 2R 15
25(ARFE K BANEELFEER HOB 15
28|3&H E+ A 22 R AALIR 10
28|28 REL EENERRS 10
28|=2 T E+ HEEFEA 10
31{HE &k FHES 5
313kR  EfS EEER 5

IS

OSM3IEEBES ) —XE 1EAKRS Y —X




Q&5M3IFEEBES ) —XE3H+HHE Y —X
QOFMIEELAFRVEILTEFEREFERS (Ba X 3)
@OSMIFEEBES ) —XE2HHES Y — X

OFM 3FELBAVFIREFERKRASIBEFERR

®SM3IFEEBES ) —XELEAR Y — X



